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SECTION- A

JDD-45/TGT-SOC.SC/X-14

i) General Awareness

1 The istand of Sri Larka formerly
known a5

(A) Madagascar

{B) Tasmania

(€) Ceylon

(D) MNone of the above

2. Golden Temple, Amritsar is India's
(A} Largest Gurudwara
(B8) Oldest Gurudwara
(C) Baoth option (A) and (B)
(0] Mone of the abave
3. Heavy Water Project (Talcher) and

Fertilizer plant (Paradeep) ara famous
industries of

(A) Orssa
(B) Tamil Nadu
(G} Andhra Pradesh
(D) Kerala

4. Hamid Karzal was chosen President
of Afghanistan in
(A) 2000
(C) 2002

(B) 2001
(D) 2003
5 Durand Cup is assoclated with the
game of
(A} Cricket
(B) Football
(C) Hockey
(D) Volieyball

g.

10,
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Firet International Peace Congress
was held in Londen in

(A) 1564 AD (B) 1788 AD
(C) 1843 AD (D} 1201 AD

Dr. Zakir Hussain was
(A) the first Muslim President of India
(B) first Vice President of India  ~

(C) first President of Indian Mational
Congress

(D} first Speaker of Lok Sabha

G-15 is an economic grouping of
(A) First World Nations

(B) Second World Nations

(C)} Third World Nations

(D} Fourth World Mations

Fathomater is used to maasura
{A) Earthquakes

(B} Rainfall

(C) Ocean depth

(D) Sound intensity

Economic goods are

(A} All commodities that are limitad
in quantity as compared to thelr
demand

(B) Commedities that i available
according to their demand ~

(G} Commodities that is availabla
more as compared to demand

(D) MNene of the above
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2 11. Who composed the famous song 16. The serial ‘India’s Rajiv’ was
| - ‘Sare Jahan Se Accha' ? produced and directed by

| -|§-ﬂ}' 4

l__' (A) Jaidev (A) Simmi Garewal

(B) Mohammad Igbal
(C) Bankim Chandra Chatterjee
(D) Rabindranath Tagore

(B) Satyajit Ray
(C) Shyam Benegal
(D) Mira Nair

12. In which of the following festivals are \ S G
boat races a special feature ? 17. “Man without society is either a beast

or a God". Who said this 7

(A) Onam

(B) Rongali Bihu (A) Plato
(C) Navratri (B) Gandhi
(D) Pongal (C) Avristotle

13. Kalchakra ceremony is associated with (D) -Honry Mameo

. - L] .rp
WHENEHS S NG Ceeniormas ¢ 18. The original name of “Mahabharata” is

A)  Hindui

EE; Bmddurfm (A) Katha Saritsagar
uddhism

(C) Jainism (B) Jai Samhita

(D) Islam (C) Brahat Katha

(D) Rajatarangini
14. Which of the following places is
famous for Chikankari work, which is 19. “Rosh Hashanah” is the new year's
a traditional art of embroidery ?

(A) Lucknow

day of which communities ?

(A) Jews
(B) Hyderabad (B) Muslims
C) Jai
fvdicaiapl (C) Hindus
(D) Mysore :
(D) Shinto
15. The rock formations that cannot store
groundwater are called 20. The Battle of Plassey was fought in
(A) aquifers (A) 1757 2
(B) aquicludes (B) 1782
(C) perched aquifer (C) 1748
(D) spring (D) 1764
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i} General Intelligence and Reasoning Ability

Loaok at this series;
353510123517 ...

What number should come naxt 7
(&) 2235 (B) 3519

() 1935 (D) 2224

Look al this serias;
5,43,11.d1._.3$,1?..._
What number should fill in the blank 7

(A) &
(C) 43

B) 14

(D) 44

Find the word that a necessary part of the
underined word.

23.

24,

b

(D)

ightning
(A)
(B)
(C)
(D)

slactricity
thunder
brightness
rain

BRISTLE : BRUSH
(A} arm:leg

(B)
(G

stage : curtain
recline : chair

key . piano

Lima
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26,

28.

RAIN : DRIZZLE
(A
(B} hop :shuffle

iy | dive

(G} run:jog
(D) walk : run

A fruit basket contains more apphes than
lemons,

There are more lemeons in the baslet
than there are oranges.

The basket contains more apples than
orangas.

It the first two stalements are frue, the
third stalement is

(A)
(B)
()
(D)

True
Falsa
Lincertain

Mone of the above

Four defensive football players are
chasing the opposing wide receiver,
who has the ball, Calvin is directly
behind the ball carrier. Jenkins and
Burton are side by side behind Calvin.
Zeller is behind Jenkins and Burton.
Calvin tries for the tackie but misses and
falls. Burton trips. Which detensive
player tackles the receiver 7

(A) Buricn (B) Zaller
(Cy Jenkins (0) Calvin
[ Know More |




ﬁ:}. JDD-45/TGT-SOC.SC/X-14
ii) WA gigENT quT atfhes arEat
21. 39 F@a H A 3N Fare 6 oeht | 25, awi gER
e grft 2 g P
353510123517...
(B) 3BT 8-
(A) 2235 (B) 3519
(C) 1935 (D) 2224 (C) e ; ffef <
(D) ST : QI
22. 3 YT HI RgY o7 sy fk faa j _ ‘
Tor W Rt e w2 26. el ht 2R B HiE H SR EE T |
g 43.91.41," 39,17, .. et B o R 8, 3ed s e 2 |
©) 43 (D) 44 Ife Ut &1 e Tt 8 a1 e e
(A) Gl
{@ifd e FT1 AT F qTTETE] 55 (B) T
| (C) <Affm
23. fomtet (D) 38 Y TS
®) T 27. ol age fifter, foraes wmm sifeT B, 3Teht
(B) TSRS IR e Raerel ot s ® € | Setfed
(€) dif| e e ¥ Ten 1S § | ke % 0
(D) =R S STe | S 3T oA 8 | SR
M F 1D FeR B | THeAfad et A
24. WA g =t RIS war ] AR =T § IR R
(A) YU TEAT 8 | 93 TSEET & | T W
(B) T T faere) it = Tra Far 2 2
(C) e el (A) e (B) TR
(D) it : o (C) SHfFE (D) et
A* 9

ik ’I‘ Latest Sarkari Jobs, Govt Exam Results,
Doy Vacancies and updates on one click




ik JDD-45/TGT-SOC.SC/X-14

Each question presents a situation and
asks you to make a judgment regarding that
particular circumstance. Choose an answer
: (A) JKJ based on given information.

| 28 BCB,DED, FGF, HIH,

31. The school Principal has received
(B) HJH complaints from parents about bullying
in the school yard during recess.
He wants to investigate and end this
(C) W situation as soon as possible, so he
has asked the recess aids to watch
closely. Which situation should the

(D) JHJ recess aids report to the Principal ?

(A) A girl is sitting glumly on a bench
reading a book and not
29. QAR, RAS, SAT, TAU, interacting with her peers.

(B) Four girls are surrounding
another girl and seem to have

A

o possession of her backpack.

(C) Two boys are playing a one-on-

(B) UAT one game of basketball and are

arguing over the last basket

s d.
(C) TAS S
(D) Three boys are huddled over a
handheld video game, which
(D) TAT isn’t supposed to be on school

grounds.

32. Here are some words translated from an
30. FAG,GAF, HALIAH, artificial language.

moolokarn means blue sky

(A) JAK wilkospadi means bicycle race
moolowilko means blue bicycle

(B) HAL Which word could mean “racecar” ?

(A) wilkozwet
4 ©) HAK (B) spadiwilko

(C) moolobreil

(D) JAl (D) spadivolo

Ax

b
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28, BOB,DED, FGF, HIH,
(A) JKJ
(B) HJH
© 1

() JHJ

29. QAR, BAS, SAT, TAU,
(8) LAV
(B) UAT
(C} TAS

(D) TAT

30. FAG, GAF, HAL |AH,
(A) JAK
(B) HAL
(C) HAK

(D) JA

s
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feEm 2
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32. TR A VT B o 51 o WA
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e el & Haeid § JEse
Hefifas @ gaer & el akes
e o foe s me i 7
(a) freEmEae
(B) i .
(C) R
(D) TEEEET

%=
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]_ }'Eu 33, Here are soma words translated from things the flag represents is freedom of

J ,L‘ an artificial language. spaach, which includes, | beliave, the right

| . : F[PE:‘ lelibroon means yellow hat for a cilizen lo express digpleasure with the

; *ﬁﬂ S plakafroti means flower garden government by burning the flag in protest.
frofimix means garden salad

35. Which of the following is similar to the

m:Trd CRUR ERIE e argumeant made by the speaker 7
(A} lelifroti (A) The rich should not be allowed {o
(B) lelipleka ‘buy' politicians, so the Congress

(C) plekab should enact campaign finance
plekabroon

(D) frotibroon

reform.

(B) Tha idea of freedom of religion

34. Here are some words translated from also maans the right not to
an artificial language. participate in religion, so *
myncabel means saddle horse mandated school prayer violates
conowir maans trail ride freedom of religion.
cabelalma means horse blanket (G) The Constitution guarantees
Which word could mean ‘horse ride’ ? freedom to own praperty, 5o
{A) cabelwir taxes should be illegal,
(B) conocabel (D) Convicted felons should not have
{C) almamyn their convictions overtumed on a
(D) conoalma technicality.

Read the below passage carefully and 36. Which of the following, if true, would
answer the questions: weaken the speakers argumant 7

{&) An action is nol considered a pan
Some groups want to outlaw burning the of treadom of speech

flag. Thay say that people have fought and
died for the flag and that citizens of the
United States ought to respect that, But |

(B} Paople who burn the flag usually
comrmit other ernmes as well

P say that respect cannot be leg-isolated. (G} The flag was not recognized by
Also, most citizens who have served in the the: government until 1812
mulitary did not fight for the fiag, they fought (D) Moest people-are against flag
for what the flag represents. Among the burning

A= 12

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



33. % TEdl 99 H SN §9 T 50
THR 2

sifers 1 wawE & gt i
SRR ST HeeE B e MEA
e = HoeTE & e mels
U T o for e wes Em 7
(A) TRl

(B) etfew

(C) e
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syt el ot ud e
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———
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37. Which of the following bes! expresses

the main point of the passage 7

(A) Only velerans care about the

flag-burning Issue

(B) Flag buming will be a very
important issug in [he next

elaction

(C) To outlaw flag burning is to

outlaw what the flag represents

(D) Burning the flag shauld only be
ilegal when it is done in forelgn
countries

38, Look at this serles: U32, V28, | X23,

Y20, ... What number should fill the
. blank 7

(A) WE2S
(B) W17
() ZAT

(D) Z26
Directions (Os. 39 and 40) .

Each question given below consists of a
statement, followed by two arguments

numberad |-and I, You have to decide

which of the arguments is a ‘strong’

argument and which is a ‘weak’ argument.

i Ax A4
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39, Statement : Should India encourage

axports, when most things are insufficiant
tor internal use itself 7
Arguments :

L. Yes We have toearn foraign
Bxchangae to pay tor our iImports.

. Mo, Even selective
EBncouragement waqld lead to
shortages.

(A)  Only argument | is strong

(B) Only argument |l is strong

(C) Either|orll is strong

(D)  MNeither | nor Il is strong
Staterment ; Should all the drugs patented
and manufactured in Westem countries
be first tried out on sample basis before
giving licence for sale to general public
in India 7

Arguments

. Yes Many such drugs require
different doses and duration for
Indian population and hence it is
NECasSary.

Il. Mo. This is just not feasible and
hence cannot ba implemeanted.

(A}  Only argumeant | is strong
(B) Only argument Il isStrang
{Cy Either | orll iz strong

(BY  Neither | nor Il is strong
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(A) FEeaT- T AR w s
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(B) 37Tl AR - U A
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(C) = e o 19 = aeee B,
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U3z, vao, __ |, X23,Y20,...

ToF =R W Tt g st 9

(A) W26

40.

(B) W17
(C) Z17
(D) Z28

%9 (4. 39 3t 40) :

el T § e e g e mm A S 9
ek a3, Ford | ofv 1 sl R 2
A fvaa = 2 B o af ‘aeeed’
# s g wwen |

Ax A5
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iii) Arithmetical and Numerical Ability

Twao trains are unplng in opposite
directions with the same speed. If the
length of each trainis 120 metres and
they cross each other in 12 seconds,
then the speed of each train (in krm/hr) is

(A) 10 (B) 18
(C) 38 oy 72

Two trains of equial lengths take 10 seconds
and 15 seconds respectivaly fo cross a
telegraph post, If the tength of each train
be 120 metres, in what timea (in
seconds) will they cross sach othar
travelling in cpposile direction 7

(A) 10 (B) 12
(C) 15 (D) 20

Each of the guestions given below
consists of a question followed by three
staterments. You have to study the question
and the statements and decide which of
the slatement{s) is/are necessary o
answer the question 7

43,

What is the speed of the train 7

|. The train crosses a signal pole in
18 seconds.

Il. The frain crosses a platform of
equal length in 36 seconds.

. Length of the train is 330 metres.

(&) land Il only

(B} 1l and Il only

{C) landlll only

(D} lland either | or Il only

44,

46.

16
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A takes twice as much time as B or
thrice as much time as C to finish a
piece of worl. Working together, they
can flinish ihe work in 2 days. B can
do the work alona In

(A)
(B)
(C)
(D)

4 days
& days
8 cays
12 days

When a plot is sold:for Bs. 16,700,
the owner loses 15%. At what price~
must that piot be sold in ordar to gain
15% 7

(A) Fa. 21,000
(B)
(<
(D)

Hs. 27,504
HAs. 25,300
Hs. 25,800

Ayesha's father was 38 years of age
whean she was born while her mothar
was 38 years old when her brother
four years younger 1o Ner was Dom.
What is the dillerence between the
ages of her parents ?

(A
(B)
(C}
(D}

B yoars
8 years
2 years

MNone of these




JDD-45/TGT-SOC.SCMX-14

iy arETTT e ve SEarers gy
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w € =z waw 3 N wear o e S ¥ ) e A S A
120 9/ E SR 3 e F 12 SR d R w2 fE o | e
SCETE 2, 01 B R (B ot i) 7 T T e
(&) 10 (B) 18
(C; 36 (D) 72 (A 4
(B) 8
42, FUSHOE S o ] O SR © 8
wst = g e § s 10 S Al o a2
[
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T 120 T 2, A vl sl daw
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el v % A i wee R | e V) 321,000
W SR Mo w0 & o frives (B) %. 21,500
Wﬂ'ﬁmﬁfﬁﬁ?%ﬂm,’m (C) %. 25300
| FUH AT E 7
% (D) %. 25,800
: a3 TR
| | 27 e mw =1 1 § 46. 3T I T G LT T IGF (A
| FAI T | =1 30 38 ATel ot | = T | F9 3
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! TR A6 TFE TR w2 | &t 31 36 U ot | 30 wr-Te &
W, i e 330 W R | 3 TR 7
(A FEs = (A) 6TTH i
B == (B) BEE
(C) Fawti A C) 2@m@
(B 1 i et | | (D) T A
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The average weight of A, Band C is
45 kg If the average weightof Aand B
be 40 kg and that of B and C be
43 kg, then the weight of B is

(A) 17 kg
(B) 20kg
(C) 26 kg
(0} 31 kg

Find tha highest common factor of

36 and B4.
iA) 4 \B) 6
() 12 (D) 18

Which of the following has the most
number of divisors 7

(A) 127
(B) 123
(C) 235
(D} 305

The least perfect square, which Is
divisible by each of 21, 36 and 66 is

(A) 213444
(B) 214344
(C} 214434
(D) 231444

Latest Sarkari Jobs, Govt Exam Results,
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A flagstaff 17.5 m high casts a shadow
of length 40.25 m. The height of the
building, which casts a shadow of length
28.75 m under simitar conditions will be

{A) 8m

(B} 10m
(C) 10.2m
(D) 125m

In covering a distance of 30 km, Abhay_
takes 2 hours more than Sameer. [
Abhay doubles his speed, then he
would take 1 hour less than Sameer.
Abhay's speed is

(A) 5 kmph
(B) B kmph
(C) 6.5 kmph
(D) 5.6 kmph

A sum of money amounts ta Rs. 9,800
after & yvears and Rs. 12,005 after & years
at the same rate of simple interest. The |
rate of interest par annum is
(A} 5% X
(B) 8%
(C) 12%

(D) 15%




47. A BINCHF e sm4s B om 2
4% Adn BE T aa40 . o
IR Bk cw fmagaraafE ot
Al BF I E
(&) 17 7. o
(B} 2of, m.

(C) 26%, .

() 3175 o

48. 363N 84w Tommy BHE (s &
{A) 4 (B) &

(&) 12 (o) 18

49. P18 e s assds
(A) 127
(B) 123
(C) 235
(D) 305

50. 21,3637 668 fum 31w =y
Hgef = B
(A) 213444
(B) 214344
(C) 214434

(D) 231444
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U 17.5 U1, F9wE o sy 40,26 9,
TS 2 T ST | S A G 2e 75T

(A} oW,
(BY 10H
(C} 10.241

(D) 1254,

30 TR, it g gl wed § e wh @
2 42 wifum oA | 97 v s
T # T e TR wdh A v v e
AT | sy i B

(&) 5T, ufa g
8) Bl vfi=e
(C) 6.5 .1 sfasey

(D) 568 %& . sfaa

TR HHTT #et saTe) 51 8 5 #7308 i
% B.BO0TM # dw e W H 5 12,005
Bl & | SET s

(A) 5%
(B) 8%
(G} 12%

(D) 15%
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i Y 54. Amantock loan from a bankattherate | sg  The product of twe numbers is 9375
gess of 12% p.a. simple interest. Afler 3years i
;::;;: he had to pay Rs. 5,400 interest only and the quoftient, when the largerone
e for the period. The principal amount is divided by the smaller, is 15. The
borrowed by im was ]
sum of the numbers is
{A) Rs. 2,000
(B) Rs. 803250 (A) 380
(C) Rs. 15000 (B) 400
D} Ra. 20,000
() (C) 385 .
55. The difference between the length and (D) 425
breadth of a reclangle Is 23 m. If its
parimatar is 206 m, then its area is
(A) 1,520 m? 50, IF40% of a numberis squal to two-third
(8) 2420m? of anothér number, what is the ratio of -
(C) 2480m° first number to the second number 7
(D) 2,520m°
(A} 2:5
58, B17+6.017+ 08617 +8.0017="7 B) 3:7
(A) 6.2863
(B) 629865 G 3
(C) B29.8357 Dy 7:3
(D) MNone of thesa
57. A largs tanker can be filled by two | 50 Thepriceof 10 chairs isequal to that
pipes A and B in 80 minutes and of 4 tables. The price of 15 chairs and
40 minutes respectively, How many ; :
minutes will it take to fill the fanker 2 tables together is Rs. 4,000, The
from empty state if B is used for half total price of 12 chairs and 3 1ables is
the time and A and B fill it together for
the other half 7 (A) Rs. 3,500
" s oy (B) Rs.3750 -
) i C 3,840
(C) 27 min & RS
(D) 30 min (D) Rs. 3,900
Ax -20-
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57.

s =E 12% W O R W a
Ty AR O ¥ AR SRS 5,400
et = e o g | gl o

(A) %. 2,000
(B) % 803250
(C) #. 15,000
(D) %. 20,000

v S o srar 3 HiEE W e
23 ﬁiﬂlﬁmﬁﬁﬁmﬁ.%.aﬁ
FEET AT

(A) 1,520%12

(B) 24200

(C) 2480W2

(D) 2 520%2

B17 + 6.017 + 0:617 + 6.0017 = 7
{A) 52063

(B) 52.965

(C) B29.5357

(D} T A=A

T W O A 377 BTSSR g s
60 e sf 40 e sl v s 2
R Bw W e & Rman asdn g
T FE B A T F o vaETy
TETATS A 39 o o e e A
o ¥ = fore e wm =i 2

(Ay 1572

(B) 20fiFz

€} 27

(D) 307z

58.

29,
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3 dent w1 s 9375 2 s ad
B HE 8w # e
EAIE 15 | MBI F AR

(A) 380

(B) 400

(C) 395

(D) 425

T2 U HEA F 409 T8 g " S
21-ToreTs sa1 8, 1 T s g
TEETH H A F R ?

(A) 2:5

(B) 3:7

(C) 5:3

D) 7:3

1O SR 1 0 4 H % Y ¥

21 15 Fafel v 2 A9 F1 %9 0wy
% 4,000 8| 12 FOfEE AW 3 F= @

T AR
(A) ¥ 3500
By %.3.750

{C) %.3840

(D) . 3,900
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A
iv) Test of Language : Hindi
sy g @ TEwl _
g1, ‘win’ e AT s 67, ‘wedl IR S B E
() e (B) W ) ekl
! (C) wE (D) A —
g2, ‘mdva’ s W Ely FEsel ) ke
| W qﬁ.’rmﬁ (D) e
{B) 9 +HE
(C) a4+ qE g8, AT 9IeE ) WHiew &
(£ aas (A) R
g3, EWMTEIR | T R (B} TR :
(A} TITRITCER YAehTe ()
' (B) HeEETeTE S (o)
(C) HEHTE ; )
D) s go. ‘marn weE = AT FI R
B4, “mEN W wH E (A) =
(A) T (B) W (B) %?T
() = (D) ST (C) =M
65, 'UEAl ¥R o HOTHE B 8 (D) &
By (. = 70, =% AT w4 R | T A
¢ ke FARE T
g6, ‘wifi’ ¥E = wgEe TR i b
s (B TTERTE SR HE
(B THR
(D) T (D) srier
Ax -22

Latest Sarkari Jobs, Govt Exam Results,
g s Know More
Vacancies and updates on one click




T w71 3l 72 sm v ve |

F i

7a

73

74,

.

76.

(A) TEI=TH
TR
At
T

B

hlE

(B)
(C)
(O}
(A)
(B}
{C) ==d
(D) =5

ok % i e’ 9w S T wm
B7

(A) =EAE T

(8] A%

©) whEremsm

(D) HEIARE F=E

el ' v wd B

(A) @ (B) w@m

(C) = =mET (D) 91
BT T T 56 it o 3

(A) =TT T ) T S
(C} =TS e (D) FEEE
B W A e et e 2
(&) FEHEFAT (B) FfEadm
(C) FegATHA (D) e
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TR e Freteriaa weit & e

BT e e e = R A
"l &8 uneagi aren & | BT
o 3T AE B | S0 e SR s
AT T | AV Hi ey 91 shifrehiE
1 TR FE | A S e R g
TR H a7 | wireniet o et B
3 frmem go |

Fib

78,

80.
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AT ] e g
(A) ETTEE

(B) il

(C) s

(D) =&

Wﬁwﬂﬁgﬁaﬂwm?
(A) T

(B) YT

(C) =ifrenTia o) werra s
(D) H7HY i % FHH
HTge gy g a7

(A) =T

(B) W e = s

(C) wwrsfl, v g o e
(D) Tt =

T 3 s dE e e
(A) T .
(B) =i e s

(C) wafaE

(D) T
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v) Test of Language : English
ST GRTET o ST

Directions for @s, 81 and 82 .

Head the each sentence to find out whether
there is any grammatical error init. The error,
if any will be in one part of the sentence. The

letter of that part is the answer. I there s no

error, the answar is'D’. (lgnore the errors of

punctuatien, if any.)

81. Do the roses in your garden smell (A)/
more. sweelly (B) / than those in

ours 7 (C)/ No errar (D)

B2, Block of Residential flats (A) [ are
coming up (B) / near our house.(C) /

Na error (D)

83. Piyush behaves strangely at times
and, tharafore, nobody gets

with him.

{A) about
(B) through
(C) along

(O} up

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

84. Toerris to targive divine.
(A)  human
{B) beastly

(C) inhuman
(D) natural

in each guestion below, there is a sentence
of which some parts have been jJumbled up.
Rearrange these parts which are labelled P,
Q. R and S to produce the correct senience.

Choose the proper sequence.

B5. |readan advertisement that said
P : posh, air-conditioned
Q : gentleman of taste
H : are available for
S ; fully furnished rooms
The Proper sequence should be!
(A) SRPQO
(B) PSRQ .
(C) QPSR
(D) RQPS
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868. Mame the part of speech of the Directions for Gs, 90 and 91 (Active/Passive
underlined word in the below given voice) :
sentence.
“There is gan error in the sentence”. an. They have built a perfect dam across
(A) wverb the river.
B neun (A) Across the river a perfect dam
ROy ie was built.
s (B} A perfect dam has been built by
87, Name the type of the below given them across the river.
SehHionce (C) A perfect dam should have been
*Please give me your pencils’. built by them, .

(A) Assertive sentence
(B) Imperative sentence
{C) Exclamatory sentence

(D) Across the river was a perfect
darm.

Interrogative sentence
& % 51. Do you Imitate others 7

88. What type of noun is "crowd” ? (A) Are cthers being imitated by you 7
(A} Common roun

(B) Are cthers imitated by you ?
{B) Proper noun

(C) Collaction rioun (C) Have others being imitated by you 7
(D} Material noun (D) Were others being imitated by you ?

89. Name the type of the underiined
prenoun in the below given sentence

g2, Name the kind of gender of "Tabie”.

o W

li ander
The girl who danced is my sister. (A) Masculine g
{A) Relative pronoun (8) Faminine gender
(B) Demonstrative pronaun (C) Neuter gender

(C) Interrogation pronoun

(D) Common gender

(D} Parsonal pronoun

N, F o A
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Passage : A recent repor in News Week says
that in American colleges, students of Asian
origin outperform not only the minority group
students but the majority whites as well. Many
of these students must be of Indian origin, and
their achievement is something we can be
proud of. It is unlikely that these talented
youngsters will come back to India, and that
is the familiar brain drain problem. Howevar
recent siatements by the nation's policy-
makers indicate that the perception of this
issue is changing. ‘Brain bank’ and not *brain
drain’ is the more appropriate idea, they
suggesl since the expertize of Indians abroad
is only deposited in other places and not lost.

This may be so, but this brain bank, like
most other banks, is one that primarily serves
customers in its neighbourhaod. The skills of
the Asians now excelling in America’s
colleges will mainly help the U.S.A.. No matter
how significant, what non-resident Indians do
for India and what their counterparts do for
other Asian lands is only a by-product.
But it is also necessary to ask. or be reminded,
why Indians study fruitfully when abroad. The
Asians whose accomplishments News Week
records would have probably had a very
difterent tale if they had studied in India. In
America they found elbow room, books and
facilities not available and not likely to be

¢ T
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available hare. The need to prove themselves
in their new country and the competition of an
international standard they faced there must
have cured mental and physical laziness. But
other things helping them in America can
be obtained here if we achieve a change
in seclal attitudes, specially towards youth,
We need to leamn to value individuais and
their unigue gualities more than confofmity
and respectability. We need 1o learn the
language of encouragement to add to our skill
in flattery. We might aiso jearn o be less
liberal with blame and less tightfisted with
appreciation, especially.

93. Among the many groups of siudents
(A) are often written about in
magazines like Mmm
(B) are most successful acagemically
(C) have pmmmuﬂ‘“m

as the whites .
(D) have urﬂyanmi;mm
blacks ‘
94. The atudentﬂfﬁww
include L bl
(A) afair numbuw
(B) asmall group from ins=

(C) persons from fnes H.
proud,
(D) Indianswhe
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g5. Ingeneral, the talented young Indians ga. The author feels that what non-

studying in Amerca rasidént Indians do for India :

(4} Have a reputalion for being hard (A) will have many ussful side affects

working.

(B) have the opportunity to contribute (B) will not bis their main interest and
to India’s developmant. concearnm

(C) can solve the brain drain problem (C) ecan benefit other Asian countries,
because of recent changas In as a by-product
policy.

(D} can American colleges ba of

carears in India. '

g6 There is talk now of the ‘brain bank', 99, The perfermance of Indians when
This idea they go to-study in the West
(A} is & solution to the brain drain (A) showsthe fruits of hardwork done
problem. by school teachers in India
(B) is anew probiem caused partly by (B) should remind us that knowledge
the brain drain, and wisdom are not limited by the
(C) isanew way of lcoking at the role boundaries of race and nation,

of qualified Indians living abroad.

(D) isbasedonaptan toutilize foraian
exchange remittances to stimulate
research and development (D) is better than what it would have

bean if they had studied in India.

(C) is better than peopie in the West
expect of non-whites.

&7. The brain bank has limitations like all

banke in the sensa that 100. The high level of compstition faced

(A) abank's services go mainly to by Asian students in America
those near i .
(A) helps them overcome their lazy
(B} small neighbourhood banks are habits.
not visible in this age of
multinationals (B) makes them lazy since the
(C) only what s deposited can be faciiities there are good .
withdrawn and ufilized (C) makes them worried about failing '
() no one can be forced ta put his (D) helps them prove that they are as
A+ E. 8 ?

i .
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Post Specific Subject-Related Questions

The Law of Diminishing Returns to
Scale holds true in the

(A) Market - Period
(B) Short — Period
{C} Long— Period
(D} Secular — Period

The first stage in the Demographic
Transition Theory of population was
charactarised by

(A) High BR and High DR
(B) High BR and low DR
(C) Low BR and low DR
(D) Low BR and High DR

The Phillips Curve shows the relation
between

(A)  Income and consumption
(B} Income and price level

(C)}  Income and investment

(D} Infiation and unemployment

The doctrine of unbalanced growth
has not been advocated by

{A) H.W. Singer

(B} W. A, Lewis

(C) A. Q. Hirschman
(B} €. P. Kindieberger

Purchasing power parity theory was
given by

(A) Haberler (B} J. S. Mill

(C) J.E Meads (D) Gustav Cassell

-26-

1086.

107.

108.

108,

110,
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The price elasticity of demand is equal
1o one for a demand curve, which is

(A} Horzontal line

(B} Vertical line

(C} Rectangular hyperbola

(D) Downward moving line

Which ane of the following is nut. an
instrument of fiscal policy 7

(A) Public Revenus

(B} Public Expendituse

(G} Public Borrowing

(D)  Cash Reserve Ratio

The concept of sinale factoral and

double facioral terms of trade have
been given by

[A) Haberler
(C) Snider

(B) Jacob Viner
(D} Scammael
Which repon used the term, “sustainable
development™for the first time 7

(A) Brundtland Report

{B) Vienna Raport

{C) Bretton Wooad Repart

() World H. D. Report

The concept of '‘Reserve Army of
Labour' is given by

(A} Kart Marx

(B} David Ricardo

(C} Adam Smith

(D) J. S. Mill

.
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(B} ¥79-3mafy (B) e T
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(8) T fiad
(A) .z, fom (C) s frrd
(B) ai:‘:_ n. #fey (D) Tefgum, A, fgd
{C) W A swEA 0
R 110, ‘werEtif srhieE 3 = vheem e )
(A) e wreh
105, ﬁﬂﬁmﬁ@ﬁ?ﬁﬁm (B) Efirs fras
(A) TEER (8) = wa. firm (C) wsw
€ .z (D) T F (D) = g, fir
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113,
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115.

A

Tha earflest duopoly model was
developed by

(A) Bertrand
(C} J.B.Clark

(B) Cournot

(D) Edgeworth
Human Development Index was
formulated by

(A} Waorld Bank

(B) Intermnational Menetary Fund

(C) UNTAD

(D) UNDP

AFC equals the vertical distance
between the

{A) AC curve and MC curve

(B) AVC curve and MC curve

(C) AC curve and AVC curve

(D) TCecurve and TVC curve

_In the Hekscher-Ohlin theory, the most
important cause of the difference in

relative commodity prices and trade
between nations is a difference in

(A) Factor endowments

(B} Technology

(C) Tastes

(D) Comparative cost

Whao led the Narmada Bachavo
Andolan 7

(A) Medha Patkar

(B} Sundarlal Bahuguna

(C) Rajiv Dixith

(D) Chandi Prasad Bhatt
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Critical Minimum Effort theory is given by
(A} Leibanstein

(B) Rosenstein Rodan

(C)  Arther Lowis

(D) Marx

Which of the following is least liquid
asset 7

(A) Money
(C} Shares

(B) Machines
(D) Bonds

Which of the Tollowing are leakages
from the circular flow ?

(A) Consumption and savings
(B} Imports and exports
(€) Exports and savings
{D) Savings and imports

Lorenz curve is used to measure
(A)  Ineguality

(B) Poverty

(C)  Inefficiency

(D) Production possibility

Which country is the larges! producer
of mica ?

(A} India (B) USA

(C) China (D) Austrafia

Wagner's law is based on

(A} Rising prices y
(B} Rising public expenditure

(C) Rising public receipts:

(D)} Rising public debts
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122. Incidence of tax is 128. Price discrimination is followed by
(A)  First point of conlast (A) Monopoly producer

(C) Bath (A)and (B)

C) Duopoly producer
(D) MNone of the above ™ e

(D} Duopsony producer

123. 'Fres Rider problem ard . .
: P sfises-niihe 125, Kinked demand curve is related to

cage of
(A) Private goods (A) Monopoly  (B] Oligopoly -
{B) Consumer goods (C) Duopoly (D) Duopsony
- |
{C) Public goods 130.  Firmatiains aquilibrium under perfect
(B) Caplital goods competition when
124, Specific tax i (A] MR = AR {B) MC=aAC
(A) Fixed amount (C) MC=MR (D) TR=TC

(B) Irrespective of cutput
(G} Pervalue of output
(B Per unit of cutput

131.  According lo Say's law of market
{A) Supply is greater than demand
(B) Supply is less than demand

125. Bretton Woods twins are (C) Demand creates its own supply
(A) U.K.andU.S A (D) Supply creates its own demand
(B) W.T.C.andl.T. O:
(C) |. M. F. and World Bank 132, Kalinga war of Ashoka is evidenced by
{D) Britain and Woodland (A} Brahmagiri adict

1268, Price Rigldity is the leature of {B) Bhabru edict
(A) Nonopoly {C) Maski edict
{B) Oligopoly (D) Rock edict X
{C) Ducpoly

133. Allahabad Inscription was issued by
{A) Chandragupta | "
(B) Samudragupta

(&) Duopsony

127, In which year the Forest Rights Act
was passad 7
(A} 1989 (B) 1870 (C) Ramagupta
(C) 1875 (D) 1565 (D} Chandragupta Il
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134, 'Rajatarangini’' was composed by
(A) Kalhana

(B) Mahendravarman |

(C} Parameshwaravarman

(D) Bithana

135. In which year Food Corporation of
India was established 7

(A) 1965 (B) 1969

(C)y 1870 (D) 1960
136. The Kailasa temple at Ellora was

built by

(A} Krishna | (B) Govindalll

(C} Dhruva (D) Krishna lll

137. ‘Lakh Baksh' was the fitle of
(A} Qutubuddin Aibak
{B) Iitutmish
() Alauddin khilji
(D} Firoz Shah
138. Muhammad Bin Tughlag transferred
the capital from
{A) Delhi to Ujjaini
(B} Delhi to Devagiri
(C) Delhito Mathura
(D} Delhi to Allahabad

139. Talikote' battle was fought between
(A) Vijayanagara and Bahamani
(B]) Chalukyas and Kadambas
(C) Keladi and Vijayanagara
(D) Viiayanagara and Wodeyars

140.

141.
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144,

145.
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| Battle of Panipat was fought batween
{A) Babur and Sher Shah

(B) Babur and Rana Pratap

(G} Akbar and Hamu

(DY Babur and Ibrahim Lodi

The famous Madarasa at Bidar was
buitt by

(A} Muhammad Gawan

(B} Muhammad Shah '
{C) lbrahim Il

(D) Muhammad Adil Shah

In which year the Tata lron and Steal

Company was sétup 7 J
(A) 1807 (B) 1910

(C) 1800 (D) 1903

The battle of Plassey was fought in

fhe year

(A) 1761 (B) 1756

(C) 1764 (O} 1757

Treaty of Mangalore ended

(A} 1 Anglo Mysore war
(B} Il Anglo Mysore war
(C) Il Anglo Mysore war
{0} IV Angio Mysore war

Permaneni zettlement was
introduced by

{A) Lord Wellesley

(B} Lord Comwallis

(C) Lord Hastings

(D) Lord William Bentinck
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Doctrine of Lapse was introduced by
(A} Lorgd Dathousie

(8) Lord Cornwallis

(C) Lord Welleslay

(D) Sir John Shore

Indian National Congress was
founded by

(A) A Q. Hume

(B) Mahatma Gandhi

(C)  Annie Besant

(D} Bal Gangadhar Tilak

in which year the Telecom Regulatory
Authority of India was set up ?

(A) 1997

(B) 1988

(C) 1990

(D) 1995

‘Lion of Kamataka' was the fitle
given to

(A) R R. Diwakar

(B) Gangadhar Rao Deshpande
(C) K.C.Reddy

(B) 5. Nijalingappa

Decision made directly by the people
without guidance or moral suasion is
called

{4) Direct democracy

(B} Representative democracy
(G} Aristrocracy

(B} Federalism

181,

152,

153.

154.
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Government led by religious beliefs
or cuiture is called

(A} Arnstrocracy
(B) Technocracy
{C) Theocracy
(D) Totalitarian

Distribulion of power batween central
government and state government is

(A} Unitary feature

(B} Federal feature

(C) Dyarchy

(D) Autonomy

State list consisted which one of the
following item 7

{A) Post and Telegraph

(B) Insurance

(C) Land policies

(D) Shipping and Navigation

Which of the foliowing has launched
Sagar Samnuddhi Project near Mumbai 7
(A} ONGC (BY IOCL

(C) BPCL (D) HPCL
Susan B. Anthony was a leader of the
movement to

(A) Guaranteed former slavesthe
right to vote

(B} Guaranteed women the right to
vole in national elections _

{C} Ensure that the harsher laws
against criminals

(D) Reduce the authority of the
Constitution of United States
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What was the source of the following
phrase, ‘Govemment of the peopls,
by the people for tha people’

(A) U.S. Constitution

(B) Declaration of Independence
(C) Geltysburg address

(D) The speech *l have a dream”

The phase that in America there should
be a "Wall of separation between
church and state’ appears in

(A) Thomas Jefferson's letter

(B) George Washington's farewell
address

(C) May Flower Compact
(D} The U.S. Constitution

In “l have a Dream" Speech
Dr. Martin Luther King

{A) Expressed his hopes for social
justice and brotherhood

(BY Advocate black separatism
(C)  Argued for the abolition of slavery

(D}  Morally defended affirmative
action

Which group of countries are termed
as "“Third World" countries 7

(A} Panchasheela

(B) MNAM

(C) NATO

(D) SEATO

160.

161,

162,
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‘Gujral Doctring’ glives more importance
to have good relations with

{A) NATO countries
(B) ASEAN
(C) SAARC
(D) SEATO

Which of the following statements is
true about abortion 7 '

(A) Itwas legalin most stales.

{B) The Supreme Court struck down
maost legal resinictions.

(C) Supreme Courl rules thal undarage
women must notify their parents of
an unpending abortion.

(D} The Mational Organization for
Women has lobbiad for lagal
restriction on i,

Which "Dasignation” or “Position” Is
the head of all civil services in India ?

(A) HRD Commissioner

(B) Cabinet Secretary

(C) President

(DY Speaker

Who was the first Chief Election
Commissioner of india 7

(A} T.MN.Shashan

(B) Sukumar Sen

(C) | K. Gujral

(D) V. K. Menon
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One of the official retreats of the
President of India is "Rastrapathi
Bhavan" in Secundarabad. Which is
the ather 7

(A} The retreat building of Bhagalpur,

Bihar
The retraat building of Mashobra,
Shimia

The retreat building of
Sambhalpur, Orissa

(B)
(C)

(D} The retreat building of Khandwa,

Madhya Pradesh

How many membars are nominatad
to the Rajya Sabha by the President
af India 7

(A) 15
() 13

(B) 14
(D) 12

The Intemational Data Line is
approximately equal to

(A} The Egualor

(B) 100" Meridian
(Cy 180" Meridian
(D) None of these

Which of the following types of paper
monay is presantly in circulation 7

{(A) Inconvertible
(B) Fiat

(C) Convertible
(D) Representative

168.
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172.
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Which is the only state that touches
Sikkim 7

(A) Assam

(B) West Bengal

(C) Arunachal Pradesh

(D) Meghalaya

The Bhakra Dam is built across the river
(A} Ravi {B) Chenab

(C) Sutle| (D) Jhelum °

Cver 90% of the world's biomass is In

(A} Fresh water wet lands
(B) Tropical rain forest
(G) OQOceans

(D) Topsoils

What is a ‘cloudburst’ 7

(A} It refers to sudden and copious
rainfall over a small area which

pften lasts only a few minutes

(B} Itrefers to 50 mm rain over a period

of tims

It is caused by rapid condensation
of very high clouds

It réfers to a thunderstorm with fittle
rain

(C)

(2

One purpose of education is to help
students to acquire the skills they
need to be succassiul in society. This
is an example of a

(A) Manifest function
(B) Construcied reality
{C) Latentfunction

(D) Entrenched function
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173. When conducting social research, B - o R ____ shyle is the patlern
what is the nexi step In the sciantific of behavior an individual deveiops in
mathod after a review of literature 7 response ta conflict with others, such

as differance of opinion.
(A) Caollecting data P
: ; (&) Conflict management
(B) Choosing a research design .
' (B] Consuliative management
(C) Selecting a researchabie problem
{C) Laissez-faire management
(D) Formulating a hypothosis .
(0) Autocratic management

174, Whatdid education development see | 177, Forwhich of the following country-of-
as major focus of education 7 origin is important in custormer's eyes 7
(&) The reproduction of labour power (A)  Airling
(B) Thetransmission of society's goals {B) Electronics

and values (C) Cars
(C) memﬁg capitalists with workers (D) Al the above
most usatul to them
(D) The development of stronig sense 178. The first Factories Act was enacted in
of individualists (A) 1881 (B) 1885
(G) 1887 (D) 1885

175. Which of the following Is part of the :
critique of education by the Australian | 178.  How many nationalised banks are
Democrals:? operating In India at present 7
(A} Spending more monay on (A) 18 (B} 18

education would not increase (C) 17 By 20
the efficiency ol the workiorce
B) Stste int e | ¢ 180, Disasters frequently result in all of the
(B) ate in m lun; n eduction following except
promoie ineguahties
. ; (A) Damage 1o the ecological
(C) Powverly is an insurmountable arvireRmant
barrier to the full realization of B Bisol - ”
intelligence and talent for pupils B SRpRERE R
of lower socio-economic causes (€) Destruction of a population’s
: . homealand
(D) The Australian education system . , . .
created equality of opportunities (D) Sustained pubiic attention during
but not equality of cutcome the recovery phase
A 2.
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181. The decision to offer humanitarian 186. Fertility can be best brought urider
aid s determined by rational control by
(A) Theories of social Justice (A} Legal enactments
(B) Teleological reasoning (B) Coercion
{C) Socio-cultural factors (G) Education
(D) Al the above (D) Schemes of incentives

182. Secial workers skilied in crisis 187. What is the Target Growth Rate
management where of 12" five year plan 7
\A) Fload (A) 8% (B) 8%
(B) Violent events such as child {C) 10% (D) 7%

abusse, domeslic abhuss

{C) Car accident, life threatening
iliness

188. The study of factors that influence the
fraquernicy distribution and causes of
injury, disease and other health related

(D) With all the above events in a population is called
183. The population pyramid of a population (A) Sociology
thal has had a slightly larger birth rate {B) Anthropology
than death rate for séveral genarations :
will most likely to have which of the (€) E_Pidﬂm'mﬂw
following shapes 7 (D)  Pathology
(A} Wider at the top thar in the middle 189. Who inaugurated ‘Sansad Bhavar
(B) Wideratthe bettom than at the fop building where the Lok Sabha and
T Rajya Sabha a I separat
(C) Bulging in the middle FEW EIEF:-T'E: rneéta? SV separate
(D) Having paraliel sides (A)  Liniith Gow
184.  Which of the following aspect of sacial (B) Lord Irwin
life is used in the text to illustrate
nsights provided by all three theoretical (©) Wavell
paradigms 7 (B} Lord Mountbatten
(A} Sports (B) War 180. The first woman Prasident of UN
(C) Family (D) Education Genaral Assembly
185. Years of productive life are calculated (A) Sarojini Naidu -
based on the age of death being (B) Annie Besant
(A) 60 (B) B85 (C)  Vijayalaxmi Pundit.
(Cy 70 (D) 75 (D) Subbalaxmi
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181.

182.

183.

1B4.

185,

LEEEETE HEEnT 24 % faofr m P
T A E

(A) e = & e

(B) FTRFHEE H

(C) HTHTS - BP0

(D) Fd) el

T HETE E T AT e Siey

=i R

(A) =iE

(B) =r-geiaE, e geEE S
fewrrer w2

(C) = ez, St AT

(D) Haitwedi

frgett s A sk s m g R A
drer i 2, A1 ere e R T
wrRR e o e 7

(A) ficherm 8w A s =
(B) e I i & s e
(C) SETET R Fer g

(D) THFTER FeTs T

aeft i B TREE BRI SR |
s F e g e | e R EasE
TS e 9 e oA ST e 7
(A) WETES (B) =
(C) wRER (D) femm
180.

s e & ot % uiereE, 1y
iry el w2
(A) 80 (B) 85
{C) 70 (D) 75

45
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187.

188.

188,
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ST S T T 8 e e
THTER B Al

(A) ST ST

(B) FETEE

(C) T

(D) S FEEE

1o T e dveen = e e = e
g7 '

(A)
(C)

9%

10%

(B) 8%
D) 7%

10 W W THERE =0, 918 & FA,
1 s et wren gEiE TeAE R
it e €, I e E R

(Ay EEE-EIE

(B) HFHE-—ITRA

(Cy  wER-TaEm

(D) TiEEE

S BT Si T wa A ¥ T e
ST OES T TEE U W o 3EEe
Bt

Ay FEfmR

(B) =2 EEA

(C) ==e

(D) = HEEE

o e e i e ST s
(A) HiTﬁFﬁqmtg .
By wfame

(C) TosmerdTisa

(D) Heawdi
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191,

192.

193,

184,

185.

The real executive power under the
Constitution of India rests with

(A)
(B)
C)
(D)

President

The Prime Minister

The Parliament

The Prime Minister and his council

What was the former name of SBI 7

(A)
(B}
()
(D)

Imperial Bank of India
Mational Bank of India
Residential Bank of India
Federal Bank of India

Where is the headguarter of the
International Court of Justica 7

(A) Paris

(B} Rome

(C) The Hague

(D) Washington

In the election of the President which
of the following do not take part ?

(&) Members of Legislative Council
(B) Elected members of Lok Sabha
(C}) Elected members of Rajya Sabha
(D) None of the above

Whera is the HQ of IMF iccated ?
(A) Washington DC

(B) New York

(C) Geneva

(D) London

196.

197,

198.

198.

200.
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‘Servants of India Society’ was
founded by

(&)
(B)
(C)
(D)

Srinivasa Shastri

Fundil Hirdaya Math Kunzru
Gopala Krishna Gokhala
Bal Gangadar Tilak

Which five year plan is called

Mahalanobis plan 7

(A)
(B)
()
(D)

I FYP
IFYP

HFYP
IV FYP

Who called Britain a nation of
shopkeepears 7

(A) Hitler

(B) Garibaldi
(C) Napoleon
(D) Mussolini

Asiatic Society was founded by

(A)  Max Muller

(B) Cunningham

{C) Sir John Marshal

(D) William Jones

Who said “i Came, | saw, | conguened 7"
(A) MNapoleon

(B) Shakespeare in Julius Caesar
(C) Admiral Nelson
(D) Hitler




191, WA 5 AT 90 IEOEE FEEn
SHUFR 75 TTH B &

(A) TR

(B) wEEEl

(C) waa

(D) SET T i auh ufing

wEftaTE < EgE T R 7
(A) Ffifeaer 3 sTiw s
(B) rere d wTE fEm
(C) ihedftmm &= sTs s
(D) ete d= A i

182

193, SIS T STETE i Y el A 7
(a) A
(B) W
(C) =&
(D) =T
194, ;@ﬂ%%@ﬁ'ﬂﬁﬂﬁﬁﬂﬂmaﬁﬂﬁ
f

(ay BEm —oiEsEEm
(B) w70 AT o e e
(C) B 3 it wae
(D) SR
195, 3978 TH W o WA FE e 2 7
(A) =T <
(B) A
(C) e
D) ==

Ai

136,

197.

188.

198

200.

e WE——

JDD-45/TGT-50C.SC/X-14

(&) e

(B) TFEA EEH FEHE
(C] T e
(D) e e e
FH AT ?

(A) T T A1
(B) TR T AT
(C) it} o
(D) =i geEidE g

stz ) PR e = A e 7
(a) TEEw
(B) TTREmE]
(C) uiferm

(D) mEETeE

ufirnfes g ST e e i

(A) HE TR

(B) FHTEH

(C) WS W

(D) TEfEEm sy

“wrddm, ek, snduies e 7
(A) e

By g fe § SepaieEn <
(C) EEET AT

Dy feeem
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IMPORTANT INSTRUCTIONS TO CANDIDATES

It o T weTEg ol e

11. This booklel comtams 48 pages 11, =1 115%'1 qasgaE

12. Please check all the pages ol the Booklal 3 ° :
carefully. In casa of any defect, please ask 12, ?Wﬂfﬁ Eﬂf?‘iﬂ?@*ﬁﬂ’ﬂmﬂf raf
iha invigitator for replacemant of the Booklal, S O B, T R T e R e |

B Rman: I (oRaes by Tot aiarmatve. | 1% TWSm: selen e v yen sl e & e

atement i owad by lour alemative - ]
suggested-answers or completions. Ineach ?“ T"“f’f‘j‘m e Ef‘w e T B | s
cEge. you aro reguired 1o select the ona that | ST TRET T R B o e A
f:fﬂgfif anﬁfﬁdﬂmﬁm?;} of m:npleﬂatﬁ % st s g oft s se-afie

B aman f appropria » e £ S 1E T
gircle A, B, C or D by Blue/Black Ball-Point Pan A m'ﬁmﬂﬁfll m ‘f‘ B, 30 D1 e
against tha guestion congemed in the ET G- 0 H w0 (@) = A |
Answer-Sheet. (For V.H. candidates (whearfim saffean & e g T
corresponding clrele will be blackenad ﬁaﬁ £ T
by the scribe) FRT T )

14, Mark your anawer by shading the ﬂEPII'ﬂD'iaE- 14, FET W A WIHA 2 o W S
gﬁaﬁiﬁﬁnﬁ?&?@ﬁf gﬁngf;m i fertd Eﬁﬁﬁ"—lﬁi’é Hﬁ?ﬂh-‘ﬂﬁﬁﬂ |
Tha comect method of shaging is given balow, TemeTiRn S e i At |
Wiy Mceio ii-'m%wm i Wiomiy Mdathorf | Gomin Weiioed T e T A E TS ], | e
ceoolo@donlo®oloenn CEOCIOBCOIO8 00|00
Thie Candidate must mark his/her response el o ST I S AT A
alter cargful congideration Tarem e i

B Thpe moh e il sach | 15w e o v o A w0 I R | e
quastion, You shou ackan a circie [ _ —
af the appropeste. column, viz., &, B, CorD. Hﬂ‘l'ilil HieW W9l A B C A0 F E!Eliﬂ:.ri!
It you blacken (@) more than one cirgle A (.}ﬁﬂﬁ' | gfs o et o
anainst any, G question, 'I_hu answear will ba BEIE (e Ly oy v o R e ™ N
treated as wrong. I you wish:-1o cancel gay : ol il 5
answer, you shauld completely erase that black WHW fﬂiﬂ M- HTT : :ﬁn b
mark in thecirgle in the Answer-Sheet and then T, T T 1 7 ST S o 5 e

18. A machina will read the coded information - 5 =5 4

L TR T S 2
in the OMR Answer-Sheet. In case the. jﬂ Eﬁﬁm‘ ‘Eﬁ Ef
information is incomplete/differant from the 16, ¥, sw-ghe § ol v =2 qa A
infnrmtiuﬂ_ghnn in the a.!:rpﬁcatinn farm, tha o WEf A | qﬁm T B S5 e
candidature of such candidate will ba treated L | T 3 firy ST o
as cancolled, 93 q "ﬂ g 'H:—:F” 5 T1-T . SIE]

17. Use the space lor rough work givan in the srerivten Freen Fwelt e |
Question Bookiel anly and nol on the 17, ekt vl & Toe e v oe § R i mm
Answer-Bhenl. e 6 | AR g e = A w

18. Youare NOT reguired (o mark your answers = Sy : _
in this Booklet. All answers must be 18, 56 UiFTET % 3 ATTRT Sey sifea ol

Go through instructions given in Page No. 1 (Facing Page)
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